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Physical Education

Paper 1II

IHiRer forem
gyutent II

Time Allowed : 120 Minutes]
Note : This Paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

AT ¢ A YIAehd THYT WM (100) sgUar Te9 fooel ofed. godeh Ueeen g (2)

[Maximum Marks : 200

U TR Wl U dredl

(1)
(2)
3)
(4)

Periodization organize training and
conditioning program through :

(A) Exercise
(B) Cycles

(C) Recovery
(D) Intensity

Match the List A and B and select
the correct option :

List-A List-B
Intensity (1) Plyometrics
@)

(@i1)
(i)

Time 3-5 days/weeks
60-80% of MHR

40-45 min

Frequency
Type
Codes :
o @2 6 @
A) Gv) G) G @)
B) @ G @ @)

(C) @) Gv) @)
D) @) Gv) @

@)
(i)

(1)
(2)
3)

(4)

STAfarSa frensaa ufyreror emfor

R g =
SIS ShYar I
(A) =™
(B) =ish
(C) guredt
(D) <o
AT A 7T B Sesan ST AR 44
IREEINE
qEr A It B
citert () R
EC) (i) 3-5 Tqerw/meael
EIRCIEG| ({ii) FUE T T
60-80%
TR (iv) 40-45 faf7e
Hehdieh :
1 @ B @
(A) (v) Gu) @) @)
B) @) Gv) @ @0)
(C) (@) Gv) @) @)
(D) @) Gv) @) @)

[P.T.O.



Calculate THR at 60% intensity for
28 years old Kabaddi player whose
RHR is 70 bpm and who wants to
perform 35 min continuous running.

(A) 145.2 bpm
(B) 143.2 bpm
(C) 144.2 bpm
(D) 146.2 bpm

........................ is a future oriented
process.

(A) Sports competition and
development

(B) Sports participation and
improvement

(C) Sports equipment distribution

(D) Sports talent identification and
development

To develop strategies and tactics we
need to know the ...................... .

() Strength and weaknesses of the
opposition

(1) Our own strength and
weaknesses

(zii) Environmental factors
(A) (7)) and (iii)

(B) @) and (i7)

(C) (@) and (i)

D) @), (i) and (@it)

JUN - 71219/11—D

28 % FATAT haee! Weslgal RHR 70
bpm 3 T 60% ditsiaq 35 THfHE Her
0T HIATS 3. et THR fafeea
Dl ¢

(A) 145.2 fdiTH
(B) 143.2 siditd
(C) 144.2 =fidiTH
(D) 146.2 sfiditd

(A) wrer Wyt onfor faw™g
(B) ShiSl HEWNT MU GErRoT

(C) el Hifed dey
(D) e Y1 3@ o faem™

S afor Terfesrd foerfad shvvamae

W ............................. tl'l'%?ﬁ'm

() wireagien &m@ S gee
(i) I Lo =1 GHa1 07 goierdl
(ii) TATOE o

(A) (1) =for (iid)

(B) @) =i (i)

(C) (i) s (i)

D) @), @) 2 (i)




The aim of technique training in
the first phase of skill acquisition

IS i .

(A) To achieve mastery over the

technique
(B) To achieve rough coordination

(C) To achieve fine coordination in

technique
(D) To achieve skill conditioning

“You should exercise the energy
systems, muscles, actions and skills
that are relevant to that sport”.
................... principal of training does
this define.

(A) Frequency

(B) Progression

(C) Specificity

(D) Reversibility

Which one of the following best

describes the plyometrics training
method ?

(A) Involves mainly stretching
(B) Involves continuous running
(C) Involves long duration activity

(D) Involves mainly bounding and

hopping

6.
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HIYCT Ul Ufgedl WA o3

(A) IFER TASumUTeT Wre RO

(B) 3MocHioe H<F HUfcd v

(C) TG dadd 99T YT 0l
(D) T Fheerdt ura o

T SesTelt HeHas e guet, T,
Fdl T wRTeT A T T 0

a@ aid v hd.
(A) FRERT

(B) Wl

(C) faferse

(D) gelord

eI GG R G BT | 1R e T R S o e et
3T AR FUA DI ?

(A) JHEA oM HHTCERT

(B) THESH He0drEl e

(C) TTHhTATaE=aT SUHHTT THSTT

(D) Y& SHfeT o gifuT=n
stava

[P.T.O.



10.

11.

In selecting talent, the most
important factor to be considered

IS v .

() Training state

(i) Health

@@ii) Interest and attitude
(iv) Heredity

(A) (@) and (@iD)

(B) (i), (@) and (iv)

(C) (@), ) and (iv)

D) @), Gi), (i) and (Pv)

After acquiring mastery over skills,

stress is laid on ......cccceevnnnnnne. .
(A) Development of SRPF

(B) Tactical training

(C) Technical preparation

(D) Training of HRPF components

The interview in which a set of open-
ended questions are asked in a
specific order and exactly as worded
is :
(A)
(B)
©)

(D)

Focus group interview
Closed quantitative interview
Formal conversational interview

Standardized

interview

open-ended

10.

11.
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T faea, foema =eamEn e
He bl ¥deh

(@) wiRreror feerd

(i) 3T

(iti) sTare sTfur gftesn

(iv) A

(A) @) 3o (iii)

(B) (i), (i) W01 (v)

(©) (), (i) 3o (v)

D) @), Gi), (i) 30 (o)
FHITETEN G FUIfed Heamas
.............................. | W L

(A) TH.3R.I.TH. g™

(B) SEU=TcHS:  FiRTE0l

(C) difseh gaiaary

(D) TH.R.W.U%. Feahia Fiyrem
= YR qareme fafime =i

T Y99 AR A F ¥ fa=Re

TT|'|T‘|'|T‘[, 2l tl}cflltelclqlull PEJELES
Y UEE.

(A) ®IRH TE HARE

(B) Ifc AR (F&AT) Hareq
(C) =i Fare qared
(D) YHIUE Herd Hearerd




12.

(1)

(2)

3)

(4)

13.

Match the column I and II and select
code :

Column I Column II

Alpha (o) (z) The magni-
tude of type II
error

(i1) Acceptance of
the null hypo-
thesis when
null hypoth-

esis is false

Type I error

Type II error (iii) Level of sig-
nificance

Beta (B) (v) Rejection of
the null hy-
pothesis when
null hypothe-
sis is true

Codes :

1 @2 6 @

(A) @) @v) G) @

B Gu) @ @ (o)

© @& G @) )

D) @ (@) Guv) G)

Appropriate sequence of major

sections in the research report would
be :

(A)

Introduction, method, results,
discussion, references

(B) Introduction, references,

methods, results, discussion
©)

Introduction, discussion,
method, results, references

(D) Introduction, results, method,

references, discussion

12.

(1)

(2)

3)
(4)

13.
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WY oI Hehdish [Tael :

Wy 1 wWy 11

TR (o) (@) =289 II A=
qieHTT

T I e (i) AFT AFA
I ARyl
LEiEa

2T 11 3 (iii) efRd R

faer () (v) T SFTEI A
qRehedal
EXu|

Hehdleh :

1 @2 B @

(A) (i) Guv) @) @)

B) @) G) @ (Gv)

©) @ @Gv) @) @)

D) @) G Gv) G

HYMEA STEaTendiel q&d |rT=n A A

qEIcTdehl ShIoT 2

(A) w&IeH, ggdr, e, ==i, dgu

(B) w&maHl, 9ey, ggdt, e, ==t

(C) e, ==, ggdl, e, Ty

(D) w&ireA, e, ggdt, dey, ==t

[P.T.O.



14.

15.

16.

In what tense is it suggested that
the introduction of research report

be written ?

(A) Present

(B) Past

(C) Future

(D) Any of the tenses

The defining feature of the historical

research is to :

(A)

Generate and develop a theory

(B)

Research about people, places

and event in the past

(®)

Describe the culture of a group

of people

(D) Understand how individuals

experience a phenomenon

A design in which all participants
participate in all experimental

treatment conditions :

(A) Pre-test post-test control group

design
(B) Post-test only design
(C) Repeated measures design

(D) Factorial design

14.

15.

16.
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N STRATATE YT Tl Shiordn

les A 3T FAfel S ?
(A) RIS

(B) YdhTes

(C) wfdasTehies

(D) IVTTEl oo

ufqerfagss geneare gRefoa afemes
BN

(A) Tagra fmor o fowfaa =

(B) YAehlaaIdicl SeKiT, T2fes, I HHT ATl
TN 0T

(C) AfKTTHRA F&hdd U Il

(D) eIt TER] ST M ATHeAA
STy

Tl 99 SUER OiifEedigsd gd
gfqaees U sia™, o grEifTh
AfYYFed =N :

(A) gE-Tvam fEf@a = sAfyewen
(B) 9@ WEW T AfHHT

(C) Rfyee fg™ srfyeney

(D) weRIRTA ke




17.

18.

19.

“Amount of training (IV) leads to
increased muscle mass and better
muscle memory, which affects

overall exercise performance (DV).”

In this example, increased muscle

MEMOTY 1S ..vvvueeeeeeeeeenns .
(A) Mediating variable
(B) Moderator variable
(C) Extraneous variable
(D) Categorical variable

Which of the following is the most

similar ?

(A) Nominal, ratio and interval
data

(B) Ordinal, nominal and ratio data
(C) Ordinal, interval and ratio data
(D) Nominal, ordinal and ratio data

Which test is used to assess the
relationship between two ordinal

variables ?

(A) Cramer’s V
(B) Phi

(C) Spearman’s rho

(D) Chi-square

17.

18.

19.
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“gfSTerom=aT YHIIER SR H107 Sed

o T Tl YURd, TMHS THOT AEM

1 IQTELUMG, AN g Tl

"N

(A) HeRe ¥d
(B) W& =

(C) dme =

(D) Hvilelg =

qElcTdehl IVl ARG Falfaeh e
e ?

(A) THIR, TUIRR & 3T STl
(B) ki, I 9 IO STl
(C) ik, STqUA d ORI
(D) MYRl, iHw o O S

T ShiFh TAHLTA TeHe TURIUITETS!
HIO ISR Ao Iad 2

(A) HHE V

(B) w1
(C) faesrm=g cho’

(D) HTI-THAR

[P.T.O.



20.

21.

(@)

b)
(c)

(d)

The first stage to do a literature

search would be to :

(A) Read introductory textbooks
(B) Do a literature search online
(C) Ask teacher to give some articles
(D) Order inter-library loan

Match the following physical fitness

components with their respective

tests :
List-I List-IT
Agility (1) Sargent Jump
rest
Power (2) Trunk Flexion
Balance  (3) Right Boomrang
run
Flexibility (4) Stork stand
(5) 60 yard dash
Codes :
(@ b)) @ @
A 6 @ 1 @
B 3 @ @ @
© B3 @O @ @
D B) 6G) 2 @

20.

21.

(@)
b)
(c)

(d)

JUN - 71219/11—D

TeiHTiEemn STeEn T8 Hvar Jom
TR & o8

(A) TRFATHS TSI =T H0

(B) Ao Eifecar=n e oy

(C) Terep el o quary |l
(D) STR-TATTAA AR HL0!
e TR qgedl weehi= =l

FYIERER 4 Siedl Seodl
a1 -1
foenfsgea (1) gfe 3 w4l
e
Aafeehdl

(2)

(3) T AT W

4) wia Vg

(5) 60 IE BI

03 K3
.
.

(@ B © @

@a 6 @ @O @

B3 @ @ @

< 3 1 @ @

D) B BG) @2 @

10
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22. Select the correct answer from the | 22. Weilel YAEEIA ST T TAF=
choices given below : o =0

(I) To ensure reliability, measure- () faveEad=l @l SdEl, A9
ment technique and condition T 7T TRt § T STeee
should be standardized to Bl STUh & HIIATIIE 32l hHT hid]
reduce measurement error. JdTd.

(IT) Length of the test and hetero- (I) SHEE=T arsl o ﬁ@ﬁw T
geneity affect reliability of FHEIS T favaariadat aikomd
instrument. Hdd.

(A) Both (I) and (II) are correct (A) TR (1) 7o (1) & aReR o7

(B) (D) is correct and (II) is wrong (B) (I) ® &R 31g 37T (1) Th e

(C) (II) is correct and (I) is wrong (C) (II) T SR 3% 3o (1) I TR

(D) Both (I) and (II) are wrong (D) <= (1) enfor (ID) & =% R

23. Below are the norms of Grip 23. TET FEFEY FAET THS HU
strength,.Measurement of 23 years e feoeh o, 23 9 Tar= qhees
women is .47 kg. What is the T 47 9. oTOcarg oS sqedfaa=rm

interpretation of this measure- 5

ment ? FE

Men Rig
Age 10-19 90.99 30.39 T 10-19 20-29 30-39
Superior 61 Above Above 54 Above 51 T 61 Above Above 54 Above 51
Excellent  51-61 4754 4351 e 5l61 4754 43-51
Good 47-50 42-46 39-42 et 47-50 42-46 39-42
Average 4146 38-41 35-38 SR 41-46 38-41 35-38
Poor 36-40 33-37 30-34 Eail 36-40 33-37 30-34
Very Poor Below 36 Below 33 Below 30 TIFH  Below 36 Below 33 Below 30
Women Hgem
Superior 54 Above  Above 50  Above 41 TAlFS 54 Above  Above50  Above 41
Excellent 46-54 44-50 35-41 Jchte 46-54 44-50 35-41
Good 36-45 38-43 29-34 =t 36-45 38-43 29-34
Average 32-35 32-37 25-28 HIER 32-35 32-37 25-28
Poor 28-31 27-31 20-24 EX] 28-31 27-31 20-24
Very Poor Below28  Below27  Below 20 T HH  Below28  Below27  Below 20

(A) Arm strength is Superior (A) B Tehe FaAh= 318

(B) Arm strength is Very Poor (B) Bl ke ©U HH -

(C) Arm strength is Excellent (C) T dThe 3Ehe e

(D) Arm strength is Good (D) BAT=l dlhe =TT 3T

11 [P.T.O.



24.

25.

26.

Which of the following skill tests
does NOT include in AAHPERD

Basketball Skill Test ?

(A) Speed spot shooting

(B) Jumping and turning in the air
(C) Defensive movement

(D) Forward pass

“Reliability is the same as :

(A) Consistency

(B) Truthfulness

(C) Representativeness

(D) Usefulness

The SCAT questionnaire tests

......................... of athletes.
(A) Teaching ability
(B) Self-confidence

(C) Concentration

(D) Anxiety

24.

25.

26.
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qErAdR! HIUTAT HIVET HAH]
Aqfd UTS dATEh Tl H1ITTH

FHALHY AR ?
(A) foe wie g
(B) gome Sfuw effor =

(C) ddrarcHesh gleidld

(D) ®REE 99

EEELEIRIIR S i
(A) 9rd™
(B) @Ryum

(C) fafeice

(D) 3UgFdn

‘SCAT’ J3E! WSl

HAET 2.
(A) A&
(B) wercAfeReTd
(C) Tehrid

(D) feam

12



27. Which is the correct formula to

calculate item difficulty ?
(A) Difficulty Index

Number correct in upper group

~ Number correct in lower group

(B) Difficulty Index

Number Answering Wrongly

~ Number Answering Correctly

(C) Difficulty Index

Number answering correctly

Total number of group

(D) Difficulty Index

Number answering correctly

Total number of questions

JUN - 71219/I11—D

(A) Fifevguest e =

I=d TTETd SR 3% QU= T
e TeTd SeR SR QU= §&1

(B) hifevgurdest s =

IehTd ST U HEAT

(C) =wIfeuauest fAesies =

Terdtel TR foenef e

(D) hifevguaest fcsme =

qeATE! THUT HEAT

28. Which of the following factors NOT
, L 28. qEAURT HIUTAT TITH HHEISTA
affecting Reliability of Test ?
favaaaaar aRomy 3 AmEr ?
(A) Method of scoring . .
(A) TUMRATET FG5d
(B) Objective of test NS
(B) hEIEE 3lEsH
(C) Administrative procedure (C) SHTETE ST
(D) Length of the test (D) FAET el
13 [P.T.O.



29.

30.

31.

What is the sequence of the rating

in somatotyping ?

(A) Endomorph — Ectomorph

Mesomorph

(B) Endomorph — Mesomorph

Ectomorph

(C) Ectomorph — Endomorph

Mesomorph

(D) Mesomorph — Endomorph

Ectomorph

Which of the following is the
subjective method of measuring

Physical Activity ?

(A) Heart rate telemetry
(B) Pedometry

(C) Accelerometry

(D) Log book

The actual exchange of gases in

lungs takes place in ..................... .
(A) Alveoli

(B) Trachea

(C) Pharynx

(D) Primary bronchus

29.

30.

31.
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ey W= w7 wE A ?

(A) TEH® — THREE — JGH®
(B) TEHI® — THHME — TRMEM
(C) THRHE® — TEHE — FHHE
(D) FHH® — TEM® — THREE

JEITUsh! IV IR Ffshaar Ao
FfRMS HeA T ?

(A) B T Aandt
(B) USrHiet
(C) STFgerm

(D) @ &

FFRAMES B A S sRal

(A) SR
(B) wieg

(C) sarg-fctent

(D) WATHE AT AT

14
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32. In case of Hull scale practical limits | 32. sa Tha=ar T &1 YT
are from : 3TaTd.
(A) —=5to+5 (A) —5to+5
(B) — 3.5 to + 3.5 (B) — 35 to + 3.5
(C) —3to+3 ©) —3to+3
(D) — 55t + 5.5 D) — 55t 5
33. In alongitudinal study, factors such - ot o
as maturation changes, mortality | 33. ﬂﬁaﬂ@? SNICEIGH Qﬂw RESUR
would be considered threats to 3. HCHIYS hIVMY €k Hyfoa ?
?
ignificance .
B) 3ia@id S
(B) Internal validity (B)
(C) Instrumentation © =
(D) Reliability (D) foeereriraan
34. Match List-I with List-IT and select | 34 fﬁj'l Yﬁfﬁ'ﬂ A ool ST et
the correct answer from the codes feetean wigdqd 9 SR feen -
given below : -1 -1
List-1 List-It (1) Ao el (@) HAR v
(1) Cerebral palsy (@)  Impairs ability to a,ﬁ-g]@m a—s[
communicate
@  Auti G Affect o | @ T (i) €AY FrAATA!
utism 124 eClS muscle -
movement and a FH-IETAR
coordination g Ll
(3) Down Syndrome @ii) Causes develop- (3) =T fg@,j’q (i) fasrara fas
ment delays frrwtor
(4)  Epilepsy (lv) Disturbs nerve | (4) 3TTEHR (Iv) q“i‘z\dﬂlc’I ERIERL
cell activity in ERIECREEIE
brain i: .
Codes : )
A) @) @ Gv) GiD) (B @ @ ) )
B) G) G Gi) Gv) B) G) @ Gi) Gv)
©) @) @) Gv) @ (©) @) G Gv) @
D) G G @ @) D) @) Gv) @ @)
15 [P.T.O.



35.

36.

317.

38.

Kicking a ball is which type of

fundamental skill ?
(A) Locomotor skill
(B) Sports skill

(C) Manipulative skill
(D) Non-locomotor skill

is not a fat soluble

vitamin.

(A) Vitamin A
(B) Vitamin C
(C) Vitamin D
(D) Vitamin K

First aid for seizure includes the

following except :

(A) Time the seizure

(B) Remove sharp objects

(C) Avoid holding the person
(D) Putting something in mouth

Handball skills might be useful
while playing basketball is an
example of ........ccceeeennn.n. .

(A) Negative transfer of learning
(B) Zero transfer of learning
(C) Stable transfer

(D) Positive transfer of learning

35.

36.

317.

38.

JUN - 71219/11—D
foemeff <ig eneredr

GHE HAYd Blerad Sived 3.
(A) TAFTCONH
(B) SISl hived

(C) Hieitea
(D) ST

N o ~
g Agd fotuesnm

(B) o 9@ &
(C) e gd €
(D) e 9@ &

r"hd SHlAd[Ad  n{Uql=d] Q%TIﬁWTITH
AU HIUT & Id A ?
(A) TRt 9= Hrso

(B) SS[SIS[=AT HeheEeh %] G vl

(C) Fitell o 9% 30l
(D) fthe Jom=n HKitean diel a%q a0

Ugele] Wealdiel hIed Sehesiial Vel
Sqﬂq'q BK qu')('“d %, .......................
I TR,

(A) RO STITT HHHU
(B) ¥ I HHHAU
(C) frer gHo

(D) &9 31T TRl

16



39.

(1)

(2)

3)

40.

Match List-I with List-II and select
the correct answer from the codes

given below :

List-I List-1I
Passive muscle (i) Treadmill
contraction exercise
Active muscle (7)) Plank hold
contraction exercise
Isokinetic (iz) Pull-ups
muscle exercise
contraction
Codes :

1 @ 3
(A) G) @) @)
B) @) @) @)
(C) @) @) @)
D) @) @  Gi)

Apex body related to physical

education teacher education is :
(A) NCTE

(B) SCERT

(C) NCERT

(D) UGC

39.

(1)

(2)

3)

40.

JUN - 71219/11—D
-1 T ARSI & S[esan ST et

feoten dfeaqa 9 Sar fraer .

a1 -1

feig w1 () JsfAa =M
3=

Hfsra w1 (i) Tih Tos M
3=

D

SR REACE (i) - ST SR

Y ST

Hehdich
(1)

2 @)

A) @) @) @

B) @ @) @)

(©C) @) G @
D) @ @ G0)

AR foraror stemTgs fRraromred
Hafya fRTer g

(A) TAHELIE.

(B) TH.HI.3.3ML.3.

(C) TAHI.3.3M.3.

(D) ...
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41.

42.

43.

Wellness is :

(A) Achievement of optimal health

and vitality
(B) Absence of disease
(C) Maintain healthy body
(D) Physical fitness

The ratio of length and breadth of

National Flag :

(A) 3:2
B) 2:3
C) 3:4
D) 4:3

One of the following is an

inappropriate feedback while

correcting the child :

(A) Remember to step forward
(B) Practise properly

(C) Look at the incoming object

(D) Turn towards object

41.

JUN - 71219/11—D

REEE s == =

(A) IUH SR 3107 Semdiet darfed
HLY

(B) = 3191

(C) T Y= S@9 T R

D) TR g

42, TS EeTEr et oo v WE

43.

(A) 3:2
B) 2:3
(C) 3:4
D) 4:3

faeneai=a HEAERET &I HhIdM

TTCAUsh! SR YR
(A) ¢ TSd TERU AW oF
(B) A H{E

(C) JuT==a wgHhe @& ST

[N

[QRIh

(D) == e 9

18
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44. For the year 2017-2018 who | 44. ¥ 2017-2018 &1 TE=1 HERTL T
received the Jeevan Gourav award STTET= ShiSl &Tde  Sia IRa | JREhR
in sports of Maharashtra state : SIuTer Hesrenm 2
(A) Shri Uday Deshpande (A) it 32T U
(B) Shri Ramesh Vipat (B) it @9 faue
(C) Shri Ganpat Mane (C) =it Torgg 7
(D) Shri Bhishmraj Bam (D) it Rrsmre =W

45. Countries participating in Common- | 45 T Besid TR SR 29
wealth Games : .

(I =S
(I) Canada
(II) wd
(II) India .
(I1I) At feran
(IIT) Australia .
IV) Jfsrets
(IV) New Zealand ()
(A) I, III swfor IV
(A) I, IIT and IV
B) I, II, III &ffor IV
(B) I, II, IIT and IV (B) L 1L
(C) II, III and IV (©) 1, I v
(D) IIT and IV (D) HI v
46. Which of the following is an example 46. NN N '@2: \?Tqvchicildl Sctletien]
of test protocol when setting up a *|U|d7qlqull ATSTRTCTET Teh SqT8
fitness test ? e
(A) To ensure that the distance is (A) S STLHTN ST Sl g SINERR
measured accurately N

(B) To shower and change your (B) =r=vi FAX ¥ET wfor wuE
clothes after the test T

(C) To try and compete with others (C) weitH o1 Hesauamardl gaterisR
to get the best score Wt SfIfor Tqei vl

(D) To shout out the score after a (D) Safadhdl STE0AM WhiSR Higd™
flexibility test o
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47.

48.

Country that hosted Asian and

Olympic Games :
(I) China

(IT) Japan

(ITI) Indonesia
(IV) Malaysia

A I, III, IV
(B) T and II

©) I, II, 1II
(D) I, II, III, IV
The

environment can affect

participation in physical activities,
which one of the following is an
example of a city environment
having a ‘Negative Effect’ on

participation in physical activities ?
(A) Good transport system

(B) Many indoor sports facilities
(C) Few area of green space

(D) Multi-cultural population

47.

48.

JUN - 71219/I1I—D

Shelall ]9 :

I =

(II) SO

QIDESIRIRE

(IV) HeAfrn

(A) 1, TII, IV

(B) I smfor 11

(C) I, TI, TII

(D) I, II, III, IV

IAERY ¥ RIS SUHAHS euri
VAT NI F& Tehd. gATIRT
Y& qHTILOMER. FehMIcHeh ST eifeh
SUHHAEL Y& TSURT IR 10t
e ?

(A) STl ATeqe oHawe

(B) @™ TR wiel gfa=

(C) &l WA fetedn S

(D) Jg-9Hideh ThaeE
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49.

50.

51.

Which of these is the key issue with
the sports governing bodies of the

country ?

(A) Clarity of objectives of the

sports federation
(B) Financial clarity and strategy
(C) Broad composition and operation
(D) All of the above
Sports Psychology is :
(A) Developmental psychology
(B) Experimental psychology
(C) Clinical psychology
(D) Applied psychology

During concentric contraction the

are pulled towards the

middle of sarcomere.
(A) I-band
(B) H-zone
(C) A-band

(D) Z-line

JUN - 71219/I11—D

49. MAIA HISl GEAFAT IATdh] HIOTT

50.

HE Haid Sd 9ER A9 ?

(A) TRH heRH= ST Tt
(B) sfdfer Tosear smfr €Ro
(C) §ife AT AU SATRIH

(D) ={a &d

Hiel HEAE WIS

(A) T EIcHe: AFERTE

(B) wraifier  A=ERS

(C) STHIT HHIIE

(D) SYASTd AFHIES

51. %3 SR ATGTAT HRehITHIRAE

ThHhIhS T
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52.

(1)

(2)

3)

Match the following and select the

correct answer from the codes given

below :

Site of Proposed

Fatigue Mechanism

Neuromuscular (I) Lack of oxygen

junction and inadequate
blood flow

Contractile (II) Local distribu-

mechanism tion caused by
contractile
fatigue signals

Central (ITI) Decreased

nervous release of

system acetylcholine
at nerve ending

Codes :

(1) (2) 3)

(A) ((IID D (ID

B) @O (1D (I1T)

(C) dID (II) (D

D) @D (I1T) (ID

52.

(1)

(2)

3)

JUN - 71219/11—D

te N

Siren e St @ett foerean dfgdqd
I I e

JRUAT famTOT WETad 9ot

s st (1) WIoEgEl A4E
g g T
Yare

SR AT TN (1) 3EIATHeS
BN Teqifeh
TSI S
S AAHS
EEI

ER-REES | (I1T) HaREHTet STt

T S eeeTehiferTei
S HAXAT

Higar :

(1) (2) 3)

(A) (IID (D (I1)

B) @ (II) (I11)

(C) (IID) (I) D

D) @D (I1T) (II)
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53. The following prolonged exercise, at | 53. <IHehled AR Ml%clﬁlcfl ISIPEASEL
least how many hours are needed qrdaes! t@a?[ oS! fmAm fordl a9
to restore muscle glycogen level ? AN ?

(B) 24 (B) 24
(C) 12
(C) 12
D) 2
) — (D) 2

54. Minute ventilation (Vg) = ............ X
Respiratory frequency (f) h4. WW (VE) P x YqYA
(A) Inspiratory Reserved Volume ®.

(IRV) (A) <refwafad g (IRV)
(B) Expiratory Reserved Volume (B) I=ga1tad =gan1 (ERV)
(ERV)
_ (C) Trwafaa gan (TV)
(C) Tidal Volume (TV)
D) =®&FZd giehdal (VC
(D) Vital Capacity (VC) D VO

55. Find out the heart rate of a person 55. T %_{ ,\:,f\ & (Q%
whose cardiac output (Q) is 20 litres ® 20 fo (Hite ‘ﬂfm q
per minute and the stroke volume 0.15 foeX sfe W @ TEaR
is 0.15 liters per beat ? IEA ?

(A) 133 beats/minute (A) 133 I=n/Tafe
(B) 125 beats/minute (B) 125 dn/fafae
(C) 70 beats/minute (C) 70 3/fafre
(D) 180 beats/minute (D) 180 3=/fufye
56. A mechanical actlgn that promotes 56. FreTem g T Gy e
venous return is provided by NS -
qidl dliAeh [shdl HQd ohid.
(A) Venous pump (A) fram =9
(B) Arterial pump (B) &=l U
(C) Ventricular pump (C) Saffept 9q
(D) Respiratory pump (D) Y94 U9
23 [P.T.O.



57.

58.

59.

60.

The basic structural unit of proteins
are ....coceeeeeennnn. .

(A) Amino acids
(B) Lactic acid
(C) Ascorbic acid
(D) Acetic acid

The random movement of molecules
due to their kinetic energy is

(A) Systole

(B) Diastole
(C) Diffusion
(D) Osmosis

A complex molecule found in red
blood cells, which contains iron and
protein and is capable of combining
with oxygen is .......cccceunnne. .

(A) Hemoglobin
(B) Hypotonic
(C) Hemodilution
(D) Hemolysis

The major cause of coronary heart
diSease iS ....cccceevvrvrrvvrnnnnns .

(A) Vasoconstriction
(B) Vasodialation
(C) Hypertensive
(D) Atherosclerosis

57.

58.

59.

60.

JUN - 71219/11—D

YioMaTe H@ | B
1.

(A) T e
(B) gumA

(C) 3fenifdeh 3T+
(D) efafesh s

nfast $He AR A
......................... 3:'@ W’

(A) TF g
(B) &3 9
(C) YR (had)
(D) safyE

I Winea Sfed 0] = dE 9
g Sdl 9 Al IoErEfed TR
B
S

(A) fermenfsH
(B) =EUEifR
(C) THEERRH
(D) THEEE

AT RIGREal h0T=al TeRTaTia=Ar=A
d-”\}'“{l‘a ﬂ@q q')l{ul %. ..........................

e,
(A) feeT STR=H
(B) Hfetsht g&m

(C) 3Tt dvRge
(D) SfelReREg
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61.

62.

63.

Coronal plane is also known

1T .
(A) Sagittal plane
(B) Frontal plane
(C) Transverse plane
(D) Horizontal plane

Which of the following is a hinge

joint ?

(A) Shoulder
(B) Elbow
(C) Neck
(D) Hip

levers are known as

force multipliers.

(A) Second and third class
(B) Third and first class
(C) First and second class

(D) None of the above

62.

63.

JUN - 71219/I11—D

(A) g9 qadt
(B) %=d ¥da
(C) TTad yaa

(D) 3Arear 9dot

TRt hioTal o= |ien o1 ?
(A) @eT
(B) W
(C) #H

(D) fras
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64.

65.

66.

67.

The product of mass and acceleration

IS toreerreeeeeeeeene .
(A) Force

(B) Inertia

(C) Velocity

(D) Work
Speed is a quantity.

(A) Scalar
(B) Vector
(C) Both scalar and vector
None of the above
........................ is an acceleration.
Object speeds up

Object slows down

(C) Object starts and stops
(D) All of the above

The centripetal force is directly

proportional to ...................... .
(A) Mass of the object

(B) Radius

(C) Both (A) and (B)

(D) None of the above

64.

65.

66.

67.

JUN - 71219/11—D

(A) IELET T 390

(B) a&gt Tt HEm
(C) I&] =1 9 a8 =l
(D) =« e

FHA ST

(A) TE THHAH
(B) fore=

(C) (A) g (B) qr=l
(D) eIAUehl IO e
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68.

69.

70.

Upward force exerted on objects

submerged in fluids is called

(A) Drag
(B) Magnus
(C) Couple
(D) Bouyant

Angular Acceleration is represented

by symbol ...................... .
(A) Radial
(B) Omega
(C) Alpha
(D) Theta

The product of force and velocity

IS cereerreereee e .
(A) Work

(B) Power

(C) Energy

(D) Inertia

68.

69.
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oC
[

SATGIATAES Fedoiedl axaX il

SRS BN CRIR
(A) EEa
(B) m
(C) 31

(D) foa
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72.

73.

......................... is a preferred sampling
method for the population with

finite size.

(A) Area sampling

(B) Systematic sampling
(C) Purposive sampling
(D) Cluster sampling

Which of the following is a
measure of internal consistency of

a measure ?

(A) Cronbach’s alpha

(B) Test retest reliability

(C) Correlation coefficient

(D) t-test

H.R.P.F.includes ......c.ccceeuuueee. .
(I) Cardiovascular endurance

(IT) Muscular

endurance

strength and

(I1D) Agility

(IV) Flexibility
(A) I, II and III
(B) I, IT and IV
(C) I, III and IV

(D) I, II, III and IV

71.

72.

73.

JUN - 71219/11—D

TIifea STehi=a SHEEIl & ey
Tgdl A A

(A) &g ReH

(B) UGRIN =IEeH

(C) TYIER =S¥

(D) =5 =R

qEIcTdehl IV HTIHIEATEAT S
Hracquiae UREm o ?

(A) HISR STTH]

L N N

(B) wERI-GAhER

(C) HeHaY WU
(D) fe-udifarent

(I) SOEoT TR

(II) &Y dmehe 20T gHERYON
(I1T) feemfyreer

(IV) et

(A) I, II effor II1

(B) I, II a7for IV

(C) I, III &ffor IV

D) I, II, III &t IV
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74. @elld S dERITd Tk faemM o gt 8

74. Given below are two statements one

is labelled as Assertion (A) and the
other is labelled as Reason (R) :

Assertion (A) :

Psychological core of personality is
the deepest component which
includes attributes, value, interests,
motives and self worth of an

individual.
Reason (R) :

Psychological core of personality is
dynamic and external and make

adjustment of the environment.

In the context of the above
statement, which one of the

following is correct ?

(A) Both are true and (R) is the

correct explanation of (A)

(B) Both are true but (R) is not the

correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

AR
faam™= A) ¢

e e AR AT Sietal
TeTel Heeh SAHE TUEH, o, W,
T T W A GEHEY SR

W @R :

SR AHESTSE MY 8 9 o

dled R YIHEl SHYH (“’-‘Il‘-lga Al YITTHR
TENE BA 3T
T faumQE 9 ¥ 9YF @relierdent
TR W o=

(A) T8I 9 A (R) B (A) 9 sRIeR
TR 3R

(B) T8 ¥ A (R) B (A) & TR

res i Cray B

(C) (A) ¥ & 31gA 99 (R) ¥ A
3T

(D) (A) g 3HA A 99 (R) & €A
e
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75.

76.

77.

78.

Person with 1Q
considered to be intellectually
disabled.

(A) 120 and above

(B) 90 to 100

(C) Between 76 to 90
(D) Below 75

Pep talk is useful for ..................... .
(A) Motivation

(B) Emotional arousal
(C) Best performance
(D) All of the above
Motivation consists of :
(A) Direction

(B) Intensity

(C) Persistence

(D) All of the above

What skills do students learn in

cooperative games ?
(A) Responsibility and empathy
(B) How to keep other kids in line

(C) Ways to get what you want

often

(D) Reaching personal goals

76.

77.

78.

JUN - 71219/11—D

Seriten AfaHg Felerel ST
(A) 120 3AfHe

(B) 90 d 100

(C) 76 4 90

(D) 75 Tam wHHI

(D) ada w&

TS TFHed faenedl s wRed
Rrepara ?

(A) SereRRT i Ty

(B) T HAM & e

(C) ATl S & d fHafavarErdt
(D) SAfeRT &4 TMeul
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79.

80.

The effectiveness of physical education
teaching is depended on .......... ?

Select correct code given below :

(a) Physical engaged time spent by

student on activity

®)

General supervision

(¢c) Allocated time for physical

activity

(d) Well-planned and meaningful

task

Codes :

A @ ®
B) @ © @
<© o ©© @
D @ B @

Who wrote Military system of
Gymnastics exercise for the use of

arm instructors mannual ?
(A) Archibald Msclarin
(B) Lundovin John

(C) Guthsmuts

(D) Henry Perling

79.

80.

JUN - 71219/11—D
THET IR {8707 ST § e
ST 3T ? ST TeAel Fehd R
Iy 7@ e

(@) Tocareais SUsmAER ©E sdd
HIATTE

(b) HR T

() TR® IwhRaEE fuifa sheen
EAIcOll

(d) giEsta sufor stefgul wvrd

Hehdich

A @ ©® (©
B @ © @
< ©® ©© @
M @ & @

Taren fdveR faetfesy saden
TSR TG STANTER Hifed! Reht
it fafeeft a8 ?

(A) =T AR
(B) e i

(C) TIeHAY

(D) BT et
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81.

82.

83.

(1)

(2)
3)

The super compensation effect of
training is due to ..........ccc.......... .
(A) Appropriate load and recovery
(B) Lack of periodization

(C) Competition

(D) Practice

The purpose of ethical principles for
professional preparation is
(A) Self-esteem

(B) Special standard of work

(C) Belief of people on profession
(D) Behaviour of professional

Body functions and related energy

expenditure :
List-I List-II
Digestion of () 55 to 75%
food
Movement @) 10 to 15%
Resting @ii) 10 to 40%
Metabolism
Codes :

(1) 2 3
A @) @ @
B) @ G G
< @ O (i11)
D) @ @) @)

81.

82.

83.

(1)
(2)
3)

JUN - 71219/11—D

gfereromen ‘W wIFEEETE 9o

.................................. T
(A) T ¥R STfor gy

(B) shrafarsH fASHEn 19

(C) Tl

(D) W=

AT IS qaREel Afas gearsEt
T — S
(A) & :gfdsar

(B) wmHrn fafyre =i

(C) FTEREER A= fasamg

(D) IR TR

IR FF 9 IEES IS AYTT ;

geit-1 Heit-11
A= (@) 559 75%
HNEIN| (@) 10 9 15%

fasrdt el (i) 10 9 40%
AT

Hehdih :

o @ O
A @) @ 0
B @ @ O
<o @ O (iii)
D @ @) @)
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84. Endurance type training modulates | 84. <HIRYUN ‘Jﬁ‘T&lUIlgoB TYTAIES 9 STER
fuel storage and substrate use. g AT gURUM Bid. A1 STehald
Adaptive response includes : _ gfdeTd M=l GHEY Bl ?

(&) ig‘;redaus;?fglgz;ig:;cmar lipid (A) FEMRTN FRgsaa fafresn
(B) Increasing muscle glycogen use e T .
during exercise (B) SATATHTIIHATAH AT A qnd
(C) Increasing liver glycogen TATIRISeAT AR e F9T
content (C) IHaHeEfd ToATIhISAA GHTOA
(D) Lowering intramuscular lipid ElL
storage (D) Egeiaia fafres yamT et 2o

85. Sudden weight loss, delay in wound | g5 a7 I HHI 20, S| a9 2
healing, infection in urine are Jo5 MO ST g g’[geﬂa 2
symptoms of ..................... .

(A) High BP TR T AT 2
(B) Cancer (A) =9 TR
(C) Diabetes (B) %

(D) Heart attack (C) aYHe

86. Match the stages of development (D) BT SAZhT
List-I with systematic improvement | 86. ey fasrmafEed Icl-1 o A9
of teaching skill as List-II and HIYTIE TSR g AEl-IT FE
identify correct code given below : SEAT FEA @ %iclodiclolcl\d e
List-I List-1I = e

(@) Stage 1 (1) Learning how to L ’ TR

do more than one ) .
thing at a time (@ ®X1 (1) UHME dedl 3T Tl

(b) Stage 2 (2) Initial discomfort I enifedl 4l

stage SRR

(¢c) Stage 3 (3) Learning how to | () %X 2 (2) Y= eTEaEerdr/

use your skills faafag feerdt
Hil:olre appropri- | (¢) wN 3 (3) =hwRTed Areid w3
ately . AT A AT

(d) Stage 4 4) Learnlng variety @) TR 4 @) IF TR s

of techniques N

Codes : Hebdieh

@ b)) @ (@ ®) © @
Aa 2 @ QO @ A 2 & 1 @
B 2 @ QO 3 B 2 @ QO O3
e 6 @ O @ < 3 @ @O @
D @ @O 3 @ D @ @O 3 @
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87.

88.

89.

Liquid meals are beneficial for all

reasons except :
(A) They are easily digested

(B) They provide energy without

feeling full

(C) They decrease lactic acid

production
They contribute of fluid needs
B.MIof ... or more than that

is considered as overweight and

obese.

(A) 25 kg/m? and 30 kg/m?
(B) 12 kg/m? and 17 kg/m?
(C) 2.5 kg/m? and 3.0 kg/m?
(D) 30 kg/m? and 25 kg/m?
Factor responsible for obesity :
(I) Heredity

(II) Metabolism

(ITI) Lifestyle

(IV) Hormone

(A) T and II

(B) II, III and IV

(C) I, II, III and IV

(D) I, II and IV

87.

88.

89.
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S WEAIA BN 81 Higd Jerd 9dl

TG 3Tl%ﬁ :
(A) = H8sl J99 B

(B) S=ATges WIE ST 7 Bl I St
et

(C) WHx offdesd s it =+
B

(D) T=IHed IR Sart TR 2

foRan wmUen ek
1. TH. 3. FeUTS] STl oo o Tl 3T
HASTOATT 3.

(A) 25 ferr/de 9 30 fol/wiee?
(B) 12 fer/die® 9 17 foil/wie?
(C) 2.5 fuy/wieR® 7 3.0 fowal/Hiex?
(D) 30 T/ 9 25 foe/He?
TYAGH TETEER ¥Ih

I orgem

(II) =ATa=r

(II1) STerRrett

(IV) E9Th

(A) I smfor II

(B) II, III s7for IV

(C) I, II, III s7for IV

(D) I, TI afr IV
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90. The Khelo India program has been | 90. Tﬁﬁ'ﬁﬁ TGS WAl gfean At
introduced to revive .......ccccc........ ) oA h0Ad 3Tl
(A) The sports federations (A) el HeEH
(B) The sports culture in India at (B) YRAN( HEATH ATAeSiaiiel shie]
grass-root level et
(C) The sports competition organi- (C) wrer el e
zation ,\ N
(D) 9RAM™E HEGRIhT  &THd
(D) The capacity of Indian coaches - L
91. gHara ofer, Tafaa samm sufu
91. Balanced diet, Regular exercise and SR S 7 E - =1
Positive lifestyle will give the T A,
benefit of ... .
(I
(I) Wellness
II) 3R
(II) Health (1D
I1T) ffigon
(IIT)Being healthy (ILD)
(IV) Well being (V) e
A) I, I, I (&) L II, 1
(B) II, III, IV (B) II, I, IV
(©) IV, I II © IV, L 1I
D) I, I, II1, IV (D) I, II, III, IV
92. In a statistical table, the row | 92- TR Shiteehidial Ufecal 3Tes=a
headings are referred to as : SffSiehIcll 318 Felloed S
(A) Source note (A) €id &
(B) Footnote (B) e 3™
(C) Stub (C) &4
(D) Body (D) T=
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93.

94.

95.

Easy-Effective way of maintaining
wellness is ....oeevveveerinnnnes .

@)

(i) Exercise

Diet

(zit) Positive change in lifestyle
(A) @) and (1)

(B) (@) and (i)

(C) @), (i) and (iit)

(D) @G1) and (i)

Ancient and Modern Olympic Games
started in .......cccceeeeenneeen. .

(A) Greenland
(B) Greece
(C) Athens
(D) Rome

Of the following, the most important
consideration in selecting a physical
education activity for primary school
class is to ensure that the selected
activity :

(A) Includes strength and

endurance enhancement

Enables all children to
participate and improvement of

(B)

movement skills

(®)

Includes both individual and

group component

(D) Has interdisciplinary connections

93.

94.

95.

JUN - 71219/11—D
a9 9eS-garel

(1) =AIH

(i) S HHRIHS a5

(A) (@) 30for (i)

(B) (@) i (i)

(C) (@), (@) 3o (iid)

D) i) ST (idd)

T enfor sy Siifefuss St
........................ T et

(A) Tiets

(B) UE

(C) 14

(D) ™

grefaes aiErel sRifes fererodia

o~

3SURHT=l fae war @l

el

fHeresh SUHHIURT Hald Hewmn foar

HIOTEr ?
(A) drehe 9 THSRYUN faermm=n sidyia

(B) s SReamy Td  famneatan
TR 0T Tt

(C) Safader 9 Hiftreh Seehmn stayfe

(D) TR TIo=me ey
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96. Which of the following is an | 9. 31%¥g¥9 ITATEL0] F<UTTUd  HLTITETS!
appropriate practice in establishing Tﬂﬂﬁﬁlﬁ FU A TR T 2
learning environment ?

(A) TS 93 T1aH

(A) Rules vary from day-to-day

(B) Teacher has systematic plans (B) fere I TERIR

(C) Students take responsibility of (C) foremeff wearea =l SE&RR]
their behaviour AT

(D) Misbehaviours are dealt with (D) EdT drerTe BaEe S
immediately 0

. . . 97. ....................................... %, ﬁ_{.rq_qﬁﬁ 311.[

97, e, is not a dimension of
wellness. TR
(A) Physical (A) IR
(B) Individual (B) Safeh
(C) Intellectual (C) &ifg®
(D) Environmental D) -

98. (I) Expiration is the process of air - R

. 98. () 3I=A™H Ul Tl {EFRHI STUATH]
movement into the lungs. b 2
(IT) Expiration at rest is usually a
passive process. (ID) fasdioes=n o UishaT TRl
(A) Statement (I) is true and (II) is feshtar st
false (A) faum (D) o 9 (D) /9 318
(B) Statement (I) is false and (II)
, (B) fagmd (1) & o (1) 99 118
1s true
(C) Statements (I) and (II) are true (C) faur (D = (ID) ¥ 3
(D) Statements (I) and (II) are false (D) faum (D a (ID) & e
37 [P.T.O.



99.

100.

(D

(ID

(A)

(B)

(®)
(D)

(D

(ID

(A)

(B)

(®)

(D)

Cholesterol be

synthesized by the body.

cannot

Lipoproteins are primarily
made up of unsaturated fatty

acid.

Statement (I) is true, statement

(IT) is false

Statement (I) is false, statement

(IT) is true
Statement (I) and (II) are true
Statement (I) and (II) are false

Athletes require increased

amount of minerals above the

RDA.

Osteoporosis begins early in life
due mainly to inadequate

calcium intake.

Statement (I) is false and (II)

is true

Statement (I) is true and (II) is

false
Statement (I) and (II) are true

Statement (I) and (IT) are false

JUN - 71219/11—D

99. (I) IR Herer= G & Tewa

100.

.

(II) ITHEATY AHYF ASTFATITEA

efrarfe=ht ffHd 2.

(A) fagm 1) sleR 9 faam 1) I
(B) faum (I) == o faem (1) steR
(C) fasm (1) sufor (I1) =& SR

(D) faegm (1) aufor (1) =6 =

() S e RTwREh FHomden

ST THTOMG &TR B07 SATERaeh 3THd.

(IT) A= LTI A=a1  hTeId

sFg=ar  wfewram

S sTRifaT=t gead 2.

VI B

(A) fagm (1) 39 9 (1) 99 TR’
(B) faem () o=@ 9 (1) 39T 2T®
(C) faum (D) 9 (II) T 3Ted

(D) fagm ) 9 II) THA 3TMea

38



JUN - 71219/I11—D

ROUGH WORK
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ROUGH WORK
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